Secondary 3

Name F’C‘y Period

10.3 HW: Period and Phase Shift of Sine and Cosine

Write an equation for each function described below.

1. Sine function
Amplitude 3

Reflected across x-axis
Shifted up 2 units

Period 21 3 :_%S‘ne 1.%

3. Sine function
Amplitude 1

Shifted down 5 units
Shifted right it units

Period =
4

Y = sin(3(6 -1)) -5

Cosine function
Amplitude 2
Shifted left 2 units
Shifted up 4 units

period gs = 208 (4(6 12)) +Y

Cosine function
Amplitude 0.5

Shifted right%
Shifted down 1t units
Period 61

g =050 (3(6 -V -1

Find the indicated information. Then sketch a graph of the function.

5. y=3sin(2(9—§))—1
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Amplitude: 55
Period: TE
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Phase Shift: R'ah* Tr/q
Midline: q = -l

Domain: (-' DC>/ 003

Range: [-u p) 2—3
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7. y=3cos(2(9+%”))+2
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Amplitude: ;

10.3 HW

Period: 6TU

Phase Shift: \QH Tr/q'

' Midline: M'.'%
\> 4

Domain: (- bol 603

Range: [l ) Q-.)

Amplitude:_a

Period: 1[
Phase Shift: Ie 3‘"’/"}

-

Midline: \J - 2

Domain: (’ DQ) ()O)

Range: E‘\ )r:}
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Amplitude:

Period: ﬂ:—

e
Phase Shift: lEH N

Midline: 9 = Q
Domain: (. bO) w)

Range: E\"') q]
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10.3 HW

9. y=2sin46
Ay 2

5 Amplitude:
; Period: “/2
Y /{ 4 ! ] [ﬂ Em.\;_zfﬂl\‘ [n\_ll\\_ll\ r§ ‘PhaseShift: N/A
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period: __ 1 1L
gl Phase Shift: N/A
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11. y = —3cos(2 (9 +E)) -1
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12. y = —5sin (26)
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13. y = 2sin(0)
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Amplitude: 5.
Period: Tl:
Phase Shift: N / A

Midline:

10.3 HW

J=0

Domain: (gbcl Do)
Range: (- 9., 6]

Amplitude:

2

Period: Z Tc

Phase Shift: p /h-
Midline:\éz o

Domain:

(- 10,0)

Range: _[— 2’)’2—)

4
Amplitude: 2

Period:

2T

Phase Shift: ﬁ\ﬂh‘\' QW/’-}
v

Midline:j = \

Domain: ('bol bO)

camge: 05,15 )
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10.3 HW
15. y =3 cos(ig(e + 1)) _3
47 Amplitude:

,7'\ * — Perlod _(p ﬂ;
\:\ / Phase Shift: I‘e TC

R ﬁ'&n ERENES 3n7_n/'4n =

e B \“-2// 2 Midline: 4‘0
— — ~— — -~ Domain: [ bol w\
Range: E 3,3\\
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fy ! Amplitude: /L
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_/'\> Phase Shift: R‘qm Zw
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r /i _ % : 31\2:_) ’T 41 ¥ Midline: \é ‘O
-3 ] Domain: (’ bo/ bo)

jﬁ‘:, : Range: E2 J) 2’5

( STOP!



